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 BBYET-141  

BACHELOR OF SCIENCE  

(UGC) (CBCS)  

Term-End Examination 

December, 2022 

BBYET-141 : CELL AND MOLECULAR BIOLOGY 

Time : 2 hours Maximum Marks : 50 

Note : Question no. 1 is compulsory. Marks are indicated 

against each question. Attempt any four questions 

from questions no. 2 to 8.  

 

1. (a) Fill in the blanks. 51=5 

(i) Fluid mosaic model was proposed by 

__________ and __________ . 

(ii) A DNA structure in which two 

strands can be separated is defined as 

__________ . 

(iii) Lysosomes were discovered by 

__________ . 

(iv) DNA consists of ___________ types of 

nitrogenous bases.   

(v) In plants, cell wall is mainly 

composed of ___________ .  
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(b) Define the following terms : 31=3 

(i) Retention factor   

(ii) Somatic cell   

(iii) Bacteriophages  

(c) State whether the following statements are 

‘True’ or ‘False’ : 4
2

1
=2 

(i) Lens which is used to observe image 

in a microscope is known as ‘eyepiece’.   

(ii) Cells like leucocytes cannot change 

their shape.   

(iii) Gel electrophoresis is used to separate 

nucleic acids of different charges. 

(iv) Euchromatin is less condensed as 

compared to heterochromatin. 

2. (a) Enlist the major differences between plant 

and animal cell.  

(b) Explain Chargaff’s Rule. 52=10 

3. Describe the structure, composition and 

functions of mitochondria along with  

well-labelled diagram. 10 

4. Describe various stages of Meiosis I with the help 

of a well-labelled diagram.  6+4=10 
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5. Describe Meselson and Stahl experiments to 

explain semi-conservative mode of replication in 

DNA.   10 

6. Explain Operon concept. Describe its structure 

and discuss its role in gene regulation.    10 

7. (a) Describe double helix model of DNA with a 

neat well-labelled diagram.  

(b) How is organization of DNA in Prokaryotes 

different from Eukaryotes ? Discuss. 52=10 

8. Write short notes on the following : 42
2

1
=10 

(a) Peroxisomes   

(b) tRNAs   

(c) Endosymbiotic theory  

(d) Replication fork   
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 ~r.~r.dmB©.B©.Q>r.-141  

{dkmZ ñZmVH$  
(`y.Or.gr.) (gr.~r.gr.Eg.) 

gÌm§V narjm 

{Xgå~a,  2022 

~r.~r.dmB©.B©.Q>r.-141 : H$mo{eH$m Am¡a AUw Ord{dkmZ 

g_` : 2 KÊQ>o  A{YH$V_ A§H$ : 50 

ZmoQ> :  àíZ g§. 1 A{Zdm`© h¡ & àË`oH$ àíZ Ho$ A§H$ CZHo$ gm_Zo {XE 
JE h¢ & àíZ g§. 2 go 8 _| go {H$Ýht Mma àíZm| Ho$ CÎma  

Xr{OE &    
 

1. (H$) [aº$ ñWmZm| H$s ny{V© H$s{OE :  51=5 

(i) Vab _moµOoH$ _m°S>b _______ Am¡a _______ 
Ûmam àñVm{dV {H$`m J`m Wm &  

(ii) S>r.EZ.E. g§aMZm {Og_| XmoZm| aÁOwH$m| 
(ñQ´>¡ÝS²>g) H$mo n¥WH²$ {H$`m Om gH$Vm h¡, 
__________ H$hbmVr h¡ &  

(iii) bmBgmogmo_ H$s ImoO _________ Zo H$s Wr &  

(iv) S>r.EZ.E. _| _________ àH$ma Ho$ ZmBQ´>moOZr 
~og hmoVo h¢ &   

(v) nm¡Ym| _|, H$mo{eH$m {^{Îm _w»` ê$n go 
_________ H$s ~Zr hmoVr h¡ &   
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(I) {ZåZ{b{IV nXm| H$mo n[a^m{fV H$s{OE :  31=3 

(i) à{VYmaU H$maH$ 

(ii) H$m{`H$ H$mo{eH$m 

(iii) OrdmUw^moOr/~¡ŠQ>r[a`mo\o$O 

(J) ~VmBE {H$ {ZåZ{b{IV H$WZ ‘gË` ’ h¢ `m  

‘AgË`  ’ : 4
2

1
=2 

(i) gyú_Xeu _| q~~ H$mo XoIZo Ho$ {bE Cn`moJ 
{H$E OmZo dmbo b|g H$mo ‘AmB©nrg’ H$hVo h¢ &   

(ii) ídoVmUw/ë`yH$mogmBQ> O¡gr H$mo{eH$mE± AnZo 
AmH$ma _| n[adV©Z Zht H$a gH$Vr h¢ & 

(iii) Oob d¡ÚwV-H$U-g§MbZ H$m Cn`moJ {^Þ 
Amdoem| Ho$ Ý`yŠbrH$ Aåbm| H$mo n¥WH²²$ H$aZo 
Ho$ {bE {H$`m OmVm h¡ & 

(iv) `yH«$mo_¡{Q>Z, h¡Q>oamoH«$mo_¡{Q>Z H$s VwbZm _| H$_ 
gKZ hmoVm h¡ & 

2. (H$) nmXn Am¡a O§Vw H$mo{eH$m Ho$ ~rM _w»` AÝVam| H$mo 

gyMr~Õ H$s{OE &  

(I) MmaJm\$ {Z`_ H$mo g_PmBE & 52=10 

3. _mBQ>moH$m°pÝS´>`m H$s g§aMZm, g§`moOZ Am¡a H$m`m] H$m 
gwZm_m§{H$V {MÌ Ho$ gmW dU©Z H$s{OE & 10 

4. gwZm_m§{H$V {MÌ H$s ghm`Vm go AY©gyÌr {d^mOZ I Ho$ 
{d{^Þ MaUm| H$m dU©Z H$s{OE & 6+4=10 
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5. S>r.EZ.E. _| AY©-g§ajr à{VH¥${V-{d{Y H$mo g_PmZo Ho$ {bE 

_ogëgZ-ñQ>mhb narjUm| H$m dU©Z H$s{OE & 10 

6. Amonoam°Z g§H$ënZm H$mo g_PmBE & BgH$s g§aMZm H$m dU©Z 

H$s{OE Am¡a OrZ {Z`§ÌU _| BgH$s ^y{_H$m H$s MMm© 

H$s{OE & 10 

7. (H$) ñdÀN> gwZm_m§{H$V {MÌ Ho$ gmW S>r.EZ.E. Ho$ 

{ÛHw§$S>{bZr _m°S>b (g§aMZm) H$m dU©Z> H$s{OE &  

(I) nyd©Ho$ÝÐH$s Ordm| _| S>r.EZ.E. H$m g§JR>Z {H$g àH$ma 

ggr_Ho$ÝÐH$s Ordm| Ho$ g§JR>Z go {^Þ h¡ ? MMm© 

H$s{OE &  52=10 

8. {ZåZ{b{IV na g§{jßV {Q>ßn{U`m± {b{IE : 42
2

1
=10 

(H$) naAm°Šgrgmo_ 

(I) ñWmZm§VaU Ama.EZ.E. (tRNAs) 

(J) A§V:ghOrdr {gÕm§V 

(K) à{VH¥${V {ÛemI 


